H £ 0l & AF & S

Al A

A UoleE
mu: Mazs) 22l
el Oio1d 2l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Choleta it 170,224,855 154,099,265 16,125,590
= 123,588,126
[ 1,050,000
= 43,936,729
= 1,650,000
MEZol 2el 168,767,694 152,686,732 16,080,962
= 123,174,769
[ 1,050,000
= 42,982,925
= 1,560,000
oI 2el 168,767,694 152,686,732 16,080,962
= 123,174,769
= 1,050,000
= 42,982,925
= 1,560,000
toled ge=d 2,880 3,600 AT20
203 =4l 2,880 3,600 AT20
03 A=A H R S| 2,880 3,600 AT20
otplatd ge=a 2,880
OIMIBIX X2 CHEY 74,500 75,000 A500
201 2egh=3| 4,500 5,000 A500
01 At2t2lt] 4,500 5,000 A500
OUINSHXIUHARS 28 S 4,500
308 AHAIEMSOIH 70,000 70,000
18 SIS0t HAS A 70,000 70,000
OUINEX s 82 70,000
SR BIEHA H2ZAHS 24,654,998 27,160,932 A2,505,934
= 19,900,610
= 4,754,388
403 AXIEHHSAH=201d 24,654,998 27,160,932 A2,505,934
= 19,900,610
= 4,754,388
01 AR A =2 £ 24,654,998 27,160,932 A2,505,934
OL2Z KRt ZI|HXt 20,511,348
= 15,777,960
== 4,733,388
O2dx MBoll =X & ds3H At 285,150
= 285,150
OAEIIHA NSl =X X HS3 E5AH 3,858,500
= 3,837,500
[ 21,000
23012 3UER dsRA 2 75,165 32,741 42,424
= 57,819




2A:

mu: Mazs) 22l
el Oio1d 2l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 17,346
308 AtXIEHMSOIE 75,165 32,741 42,424
= 57,819
= 17,346
01 XN B EES 75,165 32,741 42,424
OE3I12t ZUEX 4574l 2l 75,165
= 57,819
= 17,346
0120l SextEel LPGRF &k X3 AL 48,000 117,500 69,500
= 48,000
403 AXIEHHSAH=201H 48,000 117,500 69,500
= 48,000
01 MXIHHA =222 48,000 117,500 69,500
OO0lel0l SRS LPGIF &2t X3 48,000
= 48,000
A NSAH FHEX 23,385,222 13,245,000 10,140,222
= 20,900,940
[ 2,484,282
403 MR HHMSAHE01H 23,385,222 13,245,000 10,140,222
= 20,900,940
= 2,484,282
01 MHXIHHA 222 23,385,222 13,245,000 10,140,222
O=41t BE5 23,371,000
= 20,890,000
= 2,481,000
O=2atA Sxzd A=Hl X2 14,222
= 10,940
== 3,282
ZUME HEAAYE 28 22 364,329 364,329
201 er=23y| 364,329 364,329
01 AtR2t2|HI 12,000 12,000
O2dHle HSAAE 2G 12,000
02 s3=gHl 362,329 362,329 0
O2d¢Het ALY RRE4 362,329
OIMISIXl £ ISR 2Al X2 1,367,500 1,407,180 39,650
= 1,050,000
== 317,500
201 er2 3| 2,500 2,500
03 A= I 2,500 2,500
ORRLZAIE M2WSF 2,500
308 AtAIEHMSOIE 1,365,000 1,404,650 A\39,650
[ 1,050,000




2A:

Zu: NPT 22
ol TOIE 2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 315,000
01 HASHHBSEEXS 1,365,000 1,404,650 A\39,650
OOIMZA 28 tHE ZAl X 1,365,000
[ 1,050,000
= 315,000
A ZE ot=2 ¢ J18 At 21,000 30,000 29,000
201 el 21,000 30,000 29,000
03 A= &I 21,000 30,000 29,000
OAMIAHI #E ots2l & J18 dAL S 21,000
OIS FIHE X 105,742,100 96,461,800 9,280,300
= 72,349,400
< 33,392,700
403 MR EHSAHE01H 105,742,100 96,461,800 9,280,300
= 72,349,400
= 33,392,700
01 AXISHA=2E2 X 105,742,100 96,461,800 9,280,300
OXIINSAt E5 105,343,700
= 71,951,000
= 33,392,700
OHJIOIER 23 398,400
= 398,400
IHEE N=A 22 E5AY 198,000 139,680 58,320
= 198,000
403 AXIEHMSA=Z01d 198,000 139,680 58,320
= 198,000
01 AXISHHA =2 £ 198,000 139,680 58,320
OJEE M=sA 29 B 198,000
= 198,000
T2 THHIASX] M A 820,000 1,640,000 /820,000
= 820,000
403 AXIEHHSA=01d 820,000 1,640,000 820,000
= 820,000
01 A= 2L 820,000 1,640,000 820,000
OE=Z MEI&MHX N 820,000
= 820,000
STEE ISV I=58Y SSd2HE 2g2¢c 1,500,000 1,500,000 0
= 1,500,000
306 E¢= 1,500,000 1,500,000 0
= 1,500,000
01 2d= 1,500,000 1,500,000 0
O=Hd: NISlDIs8Y SEd24H =2
g2l 1,500,000
= 1,500,000




A t1EE

3 dEzol 2l
Celr o= 22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OIMIBIX A7 - 2te|dlEH 2 (20 XIY) 465,000 465,000
307 elztol & 465,000 465,000
02 2B YA E X 465,000 465,000
OO0IMEIX A= - 2e|dy 29 465,000
AEH 2R AEE 2el 9,000 9,000
201 er=23y| 9,000 9,000
01 AtR2t2|HI 9,000 9,000
OX&H Z=get Algd 2l 9,000
SEUMA FHEZ OIMEX M2 60,000 360,000 A300,000
= 60,000
308 AXIHS0IA 60,000 360,000 /300,000
= 60,000
01 AXHNBEES 60,000 360,000 /300,000
Ot edA FHEZ OIASX M 60,000
= 60,000
F=aE EAL X X 9,980,000 9,480,000 500,000
= 8,900,000
=S 1,080,000
403 X SHHMSAH=01H 9,980,000 9,480,000 500,000
= 8,900,000
== 1,080,000
01 AXISHHA 22 £ 9,980,000 9,480,000 500,000
OF=AZF8A XX 4,740,000
= 4,200,000
< 540,000
Ox=2usE I A=A 5,240,000
= 4,700,000
= 540,000
gelstdd s 1,396,321 1,348,493 47,828
= 413,357
= 892,964
= 90,000
SZAE g4 Lst 1,396,321 1,348,493 47,828
= 413,357
< 892,964
= 90,000
SOTIOHAE At=2te|AMY 20,000 20,000 0
307 glztol & 20,000 20,000
04 QIZHHAMAIRH 2 & 20,000 20,000
OXCIIoHA 28X 20,000
SO 2= ALY 128,000 100,000 28,000
307 el2to| & 128,000 100,000 28,000




2A:

XMNZEH: A I=:|
‘3%;2 g%‘?:”,@ E;EH ?:@ (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 128,000 100,000 28,000
Ol AL FHASY S SHAYSSTA} 128,000
AHUIoHA A2 At 180,000 180,000 0
= 90,000
= 90,000
308 AtXIEHMSOIE 180,000 180,000 0
== 90,000
= 90,000
13 SI[2SOHe & EAS A 180,000 180,000 0
OAHIIGHAF A2l AHIA 180,000
[ 90,000
= 90,000
SOHZ AT GHCHZ =& 187,607 181,213 6,394
308 AXIMSOIA 187,607 181,213 6,394
01 XN BSELES 187,607 181,213 6,394
OAHUIGHA 22Hl 20 =22 187,607
BN A ALSSTAL AIS 22 150,000 150,000 0
= 150,000
308 AXIHS0IA 150,000 150,000 0
= 150,000
01 AXEH B EES 150,000 150,000 0
OMEISISEA ZHTS HYLS ZXB
cl(gal, & Elfeh) 150,000
= 150,000
BHERE FHOKG FUALHE A Al 2| AFE 81,000 21,000 60,000
308 AXIHMSO0IA 81,000 21,000 60,000
01 AXEH B EES 81,000 21,000 60,000
OYAEBUCI| FUABSSIAL Al=2H]
Ared 21,000
O TSN FH FAUAZ 2| 60,000
SHEHHEHZE 526,714 561,280 N\34,566
= 263,357
= 263,357
307 @120l & 526,714 561,280 N\34,566
= 263,357
= 263,357
03 M EE2SHIEx 526,714 561,280 AN34,566
Odod stZ2AHUH 29 526,714
= 263,357
=S 263,357
sSH2A A 3,000 5,000 22,000
201 Ler=23 | 3,000 5,000 22,000
01 AtR2telHl 3,000 5,000 /2,000




M OISR
I LBIIHDH
el Yl 88 A (Gt H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
BEEEEEEEEEER 3,000
NEIFIS BFETE oY A 30,000 30,000
307 2I2t01 & 30,000 30,000
02 2B YAIHE A 30,000 30,000
OMBIZINS BRHTE UL A 30,000
B0l LA A 90,000 0 90,000
207 ARl 90,000 0 90,000
01 A S| 90,000 0 90,000
OSB3 L33l BYYFLI} 2 90,000
AH2I3HI(Ho1EZ ) 60,840 64,040 A3,200
l=ZHI(to18d) 60,840 64,040 A3,200
EETICEEEED 60.840 64,040 £3,200
201 Let=Ehl 28,800 30,400 /1,600
01 AtR2t2|HI 28,800 30,400 A1,600
OII& 2D geaa 28,800
202 04| 28,800 30,400 1,600
01 SLHo4HI 28,800 30,400 A1,600
otIstadl gR= 28,800
203 HR=H] 3,240 3,240
VEVEEEEESI 3,200 3,240
OII#AY YeEa 3,240




